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Identify the domain and range of the given relation. Then represent the relation using a mapping diagram.
1. (5,-2),(-3,-2),(3,3),(—1,-1) 2. (4,-2),(4,2),(16,-4), (16,4)
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3. , 4. 5.

circle | absolute value Line
not a funchon Lunchon funchon

Tell whether the function is linear. Evaluate for the given value of x.

6. f(x) =x+12; f(-2) 7. f(x) = x*+1; f(6)
linear £(-2)=10 Guadratic LYY= 37
Not \inea( £
8. f(x) = —4; f(3) 9. f(x) = |x|—4; f(=2)
linear £O@)=-4 oosolute Value £C-2)= -2
Not \inear '
9. Tell whether Line 1 and Line 2 are parallel, perpendicular, or neither.
Line 1 passes through (10,7)and (13,9) 1\ = =1 k. 2. My 230 = o =G
Line 2 passes through (-4, 3) and (-1, 5) i6-13 -3 3 “Hetl -3 2

Paralle|

Find the x and y intercepts of the line with the given equation.
10. y=3x—7 %. 0=3x-1 Y: y=0T 11 3y+2x=12 X. 0+2x212 Yl 3y+o0-
1« = X=b ys g
E)

C‘l/s-,(‘b (O'“ﬂ (b.0) Co,w)

12. The Spendmore family is not very good at budgeting their money. If they initially had $500 in their bank
account and after 8 days only had $148, write a function that describes their bank balance b as a function of

time t in days. b(ﬂ‘ ~-4y4yt + 500

500-14g= 352
3



13. Graph and write the equation of the line through the points (-4, -1) and (2, 3).
What is the domain, range and x and y intercepts of the line? ., — _ {s 3
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Write the equation of the lines that are parallel and perpendicular to the above equation that goes through
the point (8, -2). Graph the 2 lines. P?:rc:l\e\ qug\hc}f C,us_w
Y= Za (x-2)"2 Yz -3 (x-8) "2

Compare the following functions to the basic/parent function. Give all pertinent information using a-d as a
guide.

a) Name it

b) Tell whether the graph reflects or has a positive or negative slope

c) Find the vertex, center, or starting point, etc.

d) Tell whether the function has a vertical shrink, vertical stretch, or the same width as its basic function.

14, y=2|x—3|+6 absolute value 15. 2x—4y =16 \ine
V{8, X-\vatl (8,0) Slope! Yo
VerKcal sirebch by? Y-t (0,74
6. y=+vVx -6 Square root 17. (x—2)2+ (y+2)2=25 Circle
start point: (0,6) Gt (225
R: S

18. y= —-3(x+2)*>—-4 paro.\oc\& /ODU-O.C\Y‘&HC 19. y= %m+2 cube root

Vi(-2,-4 4 Start point : (5,2)
Yefleck s | vertical stretch \05 Verhical shrink \Dlj /2.

20 y= —3x*?—-2x+5 Para,bo\o./q(uadra.ﬁc 21. §= %x—7 \ine

l- B . L = s .
;2’(;5)— E Tc@\cd" ver fical 2 y-wt: (o, 7 x-nd '(%,O)
Strefan b\j S\OPQZ 5/\_\



Write an equation that satisfies the given information.
22. absolute value

Vertex: (—2,0) a = =3
lj = -3 ] & 2\
24. square root

starting point: (—=1,4) a = 1/2

23. parabola
Vertex: (3,6) a = 2

Y=2 (- b

25. cube root

center point: (0,4) a = —4
- - - L e
Y= Ixr1 +4 Y=-4{ x +Y
26. circle 27. circle

Center: (—3,4) radius=3
Cx+) 4 ijf%z |

28. line

Center: origin radius=6
2
X4 52 =32
29. line
Slope: —; goes through point (=5, 13) Slopezg goes through point (0, —7)
Y=-Z/2 (x+S) +13 Y= 5 x-T
3

Graph the following equations and state the domain and range using interval notation.

30. x*+(+1)2=7 (:(0,-V) 31. y=2(x+3)?-5
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Graph the following equations and state the domain and range using inequality notation.
y = —2x% —16x — 36
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